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How many liters of @ 253% saline solution must be
added to 3 liters of a 10% saline solution to obtain a
15% saline solution?

towal aomr. of salnd So\

i)

W
Lo - ¥ “')
sy 2 .2 = Yy .
- i A
4\/)¥ :
e
JOX \ O
-.‘.a-—-"w.-‘n_ "‘"M.‘—
el 1
\
\ |
i - I
i = (/J
RS |

STOP

If you finish before time is called, you may check your work on this section only.
! Do not turn to any other section.
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Questions 17-19 refer to the following information. Some bulilding codes require th.l! for indoor
: stairways, the tread depth must be at least 9 inches
tread and the riser height must be at least 5 inches.
depth : According to the riser-tread formula, which of the
() : following inequalities represents the set of all
e : passible values for the riser height that meets this

o : :
riser height | ! code requirement? -
(h) s d ?’ q h 2 C-J

A) 0gh<s

T tatal rise %h 25 a\‘ﬂ a 51‘,: a&

S<h<§

[— - By 8<h<16 R %\Q} AR
T v

B : \
Note: Figure not drawn to scale. ; i

When designing a stairway. an architect can use the
riser-tread formula 24 +d = 25, where /i is the riser

height, in inches, and d is the tread depth, in inches. For
any given stairway, the riser heights are the same and the (

un architect wants to use the riser-tread formula to
i design a stairway with a total rise of 9 feet, 4 riser
The number of steps in a stairway is the number of its : height between 7 and 8 inches, and an odd number
risers. For example, there are 5 steps in the stairway in of steps. With the architect’s constraints, which of

i the following must be the tread depth, in inches, of

the stairway? (1 foot = 12 inches)

tread depths are the same for all steps in that stairway.

the figure above, The total rise of a stairway is the sum of

! the riser heights as shown in the figure. ;
% : A) 72

,‘ g 95 X
(17} L an
i GR 0 O 4 o
Which of the following expresses the riser height in ; D) 15
o 2

terms of the tread depth?

1
A) h=—(25%d)

2

e

E e
Blr h=—(25~d)
4 3
A 1 o
C) h=—=(25+ d)
- l -
Dy hi=~={25~d)

2
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A gear ratio ris is the ratio of the number of teeth of
two connected gears. The ratio of the number of
revolutions per minute (rpm} of two gear wheels is
sir. In the diagram below, Gear A is turned by a
motor, The turning of Gear A canses Gears Band C
to turn as weil. -

Gear

Gear A 10 teeth

20 teeth

Gear B
&0 teeth

If Gear A is rotated by the motor at a rate of 100 rpm,
what is the number of revelutions per minute for
Gear C¢f

A} 50
B) 110
C) 200

1,:mu
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n the xy-plane, the graph of

2x” = Gt 2y + 2y =45 isa circle. What is the |
radius of tht;%rcie?
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vo different points on a number line are both =4
3 units from the point with coordinate —4. The
solution to which of the following equations gives the
coordinates of both points?

S

A) freal=3 ‘X—Q\l =d

B} |x-4|=3 ;
[x+3]=4 i}i\”‘{-‘-lﬁ)lﬁ b

D=4 | X+y| =3
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Text Box
Please read and understand the examples on the following page.
Example 15: Coordinate Geometry, Circles.
https://www.averagetosmart.com/sat-pt01-ex15-co-od-geom-circles.pdf
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‘\.\ mofér powers a model car o thal after starting : I'he sCatterplot below shows the amount of electric
! energy generated, in millions of megawatt-hours, by

from rest, the car travels s inches in { seconds,
nuclear sources over a 10-year period.

whefe s = 16t V1. Which of the following gives the

ay -
average ayu.d of théar, in inches per second, over ! Electric Energy
enerate > Nhieles ) .
the first ¢ seconds after it starts? : y Generated by Nuclear Sources
- 820 +— ——
; Yo 1 AA A
A) 44t N /I\J'i-(» %‘\_Jﬁ,}- =~ S0 < -
= 800
B) 161 . " S 780+
: SE L ({ ) J(-r o
| 16 "R /) § ?:, 760
| €y —= N ‘ & 2
| Vit VA (/ i) : z 740
\z () : z
@61 ' : E 720+ |
\ b : - ‘

700 + } ¢ + ; : -
kl

e

%

Time (years)

Y OF the following equations, which best models the

data in the scatterplot?

(‘}S}I\\J{}' 7 E{B\Qqﬁ - U“"(ml l:i‘('} : A) y= 1.674x° + 19.76x - 745.73
S Yy L : B) y=~1.674x" - 19.76x - 745.73
total T

C) y= 1.674x" 4 19.76x + 745.73

Vs [Py = —1.674x2 + 19.76x + 745.73
o
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group/of friends decided to divide the $800 cost
dfa trip equally among themselves. When two of
the friends decided not to go on the trip, those
remaining still divided the $800 cost equally, but
cach [riend’s share of the cost increased by $20. How
many [riends were in the group originally?

RWh= X =

{00

\\

W/

¥ 00

Qo
Q’} h L N '::}'1 \ A
l\\.\ U } - (\ {'\ ) - a JH

_ §uo -
A '_“,-_' - "“‘Q s ]
(\r\ R AR VAR 4 <.

U140V 32 g —HOn =500

Yow,~ 80 n,:’f‘,’ sttt

W
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s L Al — w0 i) B
f X " - ’:'
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2(5x~20) - (15+8x) =7

What value of x satisfies the equation above?

o 4045~ Bx= Y
Ax-92=

- s 7
1565 1

L
’:1 e = 'v.! 1 8
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‘Ho many liters of a 25% saline solution must be
added to 3 liters of a 10% saline solution to obtain a
15% saline solution?
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